Exercises 6.4

19. n 20,0
22. 8b 23, 12x
25. 16y 26. 61
28. Bn 29. 13y
Exercises 6.5
7.5% -3y + z 8, 3a%h + b3 - a3
= dx - ¥yt Bz _4a2h + 2[::3 - fa3
3 = 2y = Tz -afh - h3 + 7a3
= 7a4 - afh - B3
10. 15x - 3y + 2z 11. af- ab- b2
—3x+ By - 9z - =23 + ab - 2b
12x - 1ly + liz 3at - 2ab + b<
13, 4x8 + gy + yE 14. a2 + 3ab + bl
— 2x% - Bxy + 2y? — a% + gab + p@
2% + By - yo -ab
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24
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55
. r
. dv
. 9z

9. 13a% + 5b% - 4¢f
“Ea2 + ng + ll:}u:E
Sac - 4b€ - 14ce

12. mt
— EI'.IIE
-m

15. 6x2
by

-~ Mmn + F'I2

- 3mn + 2n?
+ dmn - R

+ dxy - 3ye
= Jxy + 4;-2

Tuy - Ty?



